The classroom is 15 metres long.

The library is 12 metres long.

The classroom is longer than the library.
How much longer?

8 bricks balance an apple.

10 bricks balance a pear.

The apple and the pear are together on the
scales.

How many bricks will balance them?

A full jug holds 6 cups of water.
How many cups of water do 2 full jugs hold?

How long is it from 2 o'clock to 6 o'clock?

It is now half past seven.
What time was it 2 hours ago?




It is 5 o'clock.

What time will it be 4 hours from now?
It is 5 o'clock.

What time was it 3 hours ago?

Itis 5 o'clock.

If you had tea at 3 o'clock, how long ago was
that?

Itis 5 o'clock.

If you go to bed at 8 o'clock, how many hours
until bed time?




